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— 9912 1752 NaW 2DYT 957 00 AN
He answered him; there is an unawareness of naw by him, etc.

OVERVIEW

X217 asked a1 27 what is the ruling in a case where one was unaware that it
is 2w (for which he would be 211 only one j27p regardless of how many
n1OX?7 he did) and was also unaware that the N85 are forbidden (for which
he would [usually, if he knew it was naw] be 27 many NI27p). 7271 20
replied that since he is unaware that it 1s naw, there is only one j27p. Our
MooIN contrasts this query and response with similar queries and responses.

mooIn anticipates a difficulty:
— Yy ya an ot 0YYN 1913 291 NI 72399 NYA (x,0> 91 72 P92 MPMava
In the second P99 of ny1aw noon; K29 asked y%2m2 39 what is the ruling in a
case where he was unaware that he is X0 and he was also unaware that he
entered the Wpni n°2 -
— 290 7172 ANV BYYN 29N 1YY N
111 27 answered X271 since he is unaware of the 82, he is 237 a 127p -
— 2550 1153 AMAY BYYN 591 13PUN 933 (12 91 7 P93 BN
And also there in the third P22 of m¥2w noon, we find that 1" replied to
X2, since there is 7312w abw:7 he is 297, The question is why by 720 and y12w
the ruling was strict that he is 21 in a case of N 17 097, however by naw, we see that
1"7 is lenient by 1m 77 0%vn and rules that 17°2 naw 0%y >7n and he is 2°°1 only one 127p
and is not MR TR I8 27,

A person who is unaware that he is ¥nv and entered the w7pni7 N2 or ate o°w7p (knowing that he is

entering the w7pn or that he is eating o°w7p) is obligated to bring a 71" a2 127p (see XM 2,7 XIP™).
However if he was aware that he was X»v but was not aware that he entered the "»°2 there is no j27p 211
according to 1¥°oX " and ¥"1. X211 asked what is the ruling if he was unaware that he is Xnv (this is 02vn
7RMW), for which he is (usually) 2°11 a 127p, but he was also unaware that he is entering the p"»7°2 (which is
w7pn obvn), for which (usually) there is no 127 2.
2 We derive from the p10d (in 7,7 X7p™) which states 1% 09¥1 7¥12WA DIRT KV WK 2372 N YWD *3 W1 K,
that 0%y1 7y12w3, that one is only liable for a 7717 77w 127p if he forgot that he swore (not to do something
and he did it), however, not if one forgot the y511 (the object he swore about), for instance he swore not to
eat wheat bread, and he reached for barley bread, however he took wheat bread but he mistakenly assumed
that it is barley bread (which he is permitted to eat). In this case (where he remembered the oath but was
unaware of the yan) there is no 1277 211. Here too X271 asked j%m1 27 what would be the ruling if he forgot
the oath (not to eat wheat bread) for which one is (usually) 21, and was unaware of the object (he thought
he is eating barley bread) for which one is (usually) 7v5.
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Moo responds:’
— NN %Y 9107 v onn

There (by nXmv and 7¥12W) it is properly understood, since he responded

to him stringently that he is 2r1 a 12p.
— 990199 NON Y 91INT XM

And the reason why 1"1 responded here to acquit him from bringing many
miap, is -

‘1A OIUN XD MSNN APIYT SIPPY DAY NNY 920PT DIUN
Because 1'% maintains that unawareness of naw is the main >, since

the main 722 is on account of naw.

SUMMARY
Generally (including 7n 77 09v77) we rule X1n2; however, by naw since the
9P°¥ is the naw we are lenient by 11 17 2%y for the main AW is DAY AW,

THINKING IT OVER

mMooIN writes that by 7™ and 72w it is 5w that 1" resolves it Xm>.”
Can we interpret N1901N to mean that since it is a 90 in a 771N law, therefore
we rule 81> for XIS RNPRT ’p*o0?°

? See 2»m "1 A "7 R, My12w moon where he writes:

95 %Y 12717 X720 PR (N2Ww by) OnNn 2aR IRV Q%Y M1 RIPRT 110 2707 X7 X120 (XML by) X377 07 KT 9™
NAW DAY 911 IRD W1 0 TORDM2 JAWT M1 RNWA RIM KDR 2207 RY MORON N1 NAW DAYAT 1137 DRI DX

* See 0"nn who explains that logically one should be 21 for wpn o%v: (as well as for XL 09v:), however

there is a 7w% that wTpn 02y is Mwd. However the 717 cannot remove the 211 of 7w 0. Regarding

naw the reverse is true; there is no reason to assume MIX?1 P12°1; it is a w17°n that is derived from a 7%,

that 792 applies only by naw 171 and not by naw naw.

> Similarly by 7312w Xm0 the main 2vn is for 7y12wn axmv (respectively). [However mooin has no need to

mention it, because to rule X n7 it is not necessary to posit that this is the main 3w, because (even if it

weren’t) we rule X2 by a poo. By naw however, where we are ruling X797 it is necessary to mention

that the 32w 2p°v is naw (and not the N1OR?7). See (however) ‘Thinking it over’.]

% See 1"mn who adds X2 22n27 XA NAWT DWn; meaning (perhaps) that the 7N tells us about naw, but

(generally) does not specify the n1oX?n which are n1 oKX (see footnote # 4).

7 See footnote # 5.

¥ See X"wmn.
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